Paper Code
Number: 4196

2024 (1%-A
INTERMEDIATE PART-II (12" Class)

Roll No:'/f/’ m),ry/

MATHEMATICS PAPER-II

GROUP-II

TIME ALLOWED: 30 Minutes

|  OBJECTIVE

| MAXIMUM MARKS: 20

Q.No.1 | You have four choices for each objective type question as A, B, C and D. The choice which you think
is correct, fill that bubble in front of that question number, on bubble sheet. Use marker or pen to
fill the bubbles. Cutting or filling two or more bubbles will result in zero mark in that question.

S.# QUESTIONS A B C D
1| The equation of directix of the parabola y+4=0 y-4=0 x+4=0 x—4=0
x? =-16y is:
2 2 2 -2
e P 2 : 5
Th tricity of —— = £ i — ==
e eccentricity o 3 x“=lis 5 75 NG 2
g 3 2jxk)=2 0 2 3 6
. Cos € equal to: By Sab ’&xf; axb
5 The length of the vector 2/ —2 — £ is: 3 5 2
The function x? +xy+y? =2 of x - ) ‘
6 |amg y is: Const: n Even cit Explici
% -
q If f(x)=2x-8,then f™'(x)=7? 8-2x X +8)
'+ x x{fn3 xp
8 Ex.(g, y=? | nx
.
% dy =1 a
If y=cos™ =, then — =7 '
4 o dx X x? -a? at -x?
0| d
E(cos x)=? . - sin secx —sinx
1 Q o x ¥
If y=cos™ =, then cosy et N\ = o sin y
12 | = TE
Isinx dx="? COST 0 1 2
0 Bty
[tanx ax =2 gex|*+c | Injcosecx|+c| Infsinx|+c | Infcotx|+c
14 o
Ie +5 Tk (6" +5)+c | In(e*+5)+c| e¥+5 e +T+¢
15 I_ cosx +c¢ tanx 4 ¢ cosecx + ¢ cotx + ¢
16 | If a is Point-slope | Normal form Symmetric Two-points
. - A r(say) s called: - form form form
coxa  sina i
Equation of line bisecting first and x=0 y=0 y=-x V=X
17 | third quadrant is:
18 | The perpendicular distance of line 3 2 1 0
3x+4y-15=0 from the origin is:
19 | The graph of 2x 2 4 lies in: Upper Half | Lower Half Left Half Right Half
Plane Plane Plane Plane
20 | Radius of circle x? + y? =5 is: 5 =5 J5 25
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NOTE: Write same question number and its parts number on answer book, as given in the question paper.
SECTION-L ,e7—,
2. Attempt any eight parts. N2~ M sxi-16
() | Define Implicit Function. (i) | Without finding the inverse, state the domain and range of ™ f(x)=v/x+2
[i) 1 (@) . sinx’
Prove that £im(l+x)* =e Evaluate Lim
x=0 =0  x
v - - —_ 2 vi
1\ Fs.nd by definition, derivative of 2x* +1 (vi) Differentiate with respect to 'x' x+1
with respect to x x:-3
(vii) dy (viii) dy
Find = if y* ~xy—x* +4=0 Find —= if x=y sin
e ¥ ~xp _ 3 ysmy
(ix) 1 ) 2x+3
Find /'(x) if f(x)=x'e*, x#0 Fisd s I8 5= ’"(3”2]
(xi) | By Maclaurin’s series, show that (xii) | Determine in which interval ' /' is increasing or
g eEt % decreasing for domain mentioned
cosx=1-"—4 - 2 A
of "4 el S(x)=4-x*, xe(-2,2)
3. Attempt any eight parts. 8x2=16
() |Find 5y and dy in y=x*—1 where x changes from 3 to 3.02.
(ii) (i) ;
Evaluate the integral J’ . 1 Evaluate the integral Ix Inx dx
x"+4x+13
() ¢ W Find the area bounded by the curve J/'= x* +3%" and
Evaluate J‘ —_—dx " ;
(2x-—1)' e X — axis.
D1 Solve the differential equation giny cosec x % =1 (viD Find the general solutionfof the gquation %—x =x’
(viii) | Show that the points A(3, 1), B(=2, —3)and C (2, 2) are vertices of an isosceleg(iriangle.
(ix) | The xy —coordinate axes are rotated about the origin through the indicated afiglé and fhe new axes are OX and OY .
Find the x) — coordinates of P with the given X1 — coordinates P(-5,3); 6 =307
(x) | Write down an equation of the straight line passing through (5, 1) (xi),J«Find the point of intersection of the lines
and parallel to a line passing through the points (0,-1), (7, —15) Sx+Ty=135 3x-7y=21
(xii) | Find an equation of the line with X — intercept —3 and ) —ifitercept 4.
4. Attempt any nine parts. 9 _2=18
(i) | Define Feasible Solution. | (ii) I Graph the inequality x+2y < 6
) | Find the equation of the circle with centre at (J_ 3.9 3)éind radius 2.3
(V) | Find focus and directix of the parabola y*.= —8(%—3)
()| Find length of tangent from the gbint (=5, 10)o the circle 5x* + 5y* + 14x +12y-10=0
(vi) | Find the centre and the foci of ellipsggx® v y#'= 18 l (vii) | Write equation of hyperbola with foci (+5,0)and vertex (3, 0).
(viii) | Define Conic Section. I (ix) ! Pind théector from the point A to the origin where 4B=4; -2 jand Bis the point (-2,5).
) e ‘ag‘+(a+1)i‘+2§ =3 Find the value of & .
() | Show that the veefrs 37 =2/ + k, i—3;+ Skand 2i+ j—4k form aright angle.
(i) | 1f g 4b+ke =0, thenprovethat axb=bx¢
(xiii) | A force = 2i + J — 3k acting atapoint A(1, —2,1). Find the moment of £ about the point B(2, 0, -2)
SECTION-II
NOTE: Attempt any three questions. Ix10=30
5.a) . \Ex—r Jx_+— g (b) | Show that %% if 2ot
If f ( x) = po— - e, X x ¥
k, x=2
Find value of "k’ so that ' ' is continuous at x =3.
6. '
(®) If y=e”sinx, show that %_zg.pzy:o ®) Evaluate _“v'3—4x2dx
7.(a) B 4. 0x 41 (b) | Graph the feasible region of the following system of
Evaluate I e linear inequalities and find the corner points.
Y X ED 2x+3y <18, 2x+y<10, x+4y<12, x20, y=20
8.a) | Find volume of the tetrahedron with vertices 4(2,1,8), B(3,2,9), C(2, 1, 4) and D(3, 3,10)
() Write equations of two tangents from (2, 3) to the circle x4+ y2 =9
9@ | Show that the equation 9x* —18x+ 4 y? +8y 23 = Orepresents an ellipse. Find its elements.
(b) | Find an equation of medians of the triangle whose vertices are A(—3,2), B(5,4) and C(3,—8)
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